Study Question 5  

Big Company has a number of concrete plants in Jones county.  Big Company sells 60% of the concrete sold in the county.  Five other small companies also sell concrete in Jones county.  Big sells concrete for $50 per yard.  For about six months last year, a "shortage" of cement generally resulted in a $10 per yard surcharge in concrete prices.  Concrete consumption in Jones county fell from 10 million yards per month to 7 million yd/mo as a result.  (It is now back to 10 million.)

    A)  Do you believe Big Company possesses "monopoly power?"  Carefully define "monopoly power" and analyze quantitatively.

B)  Assume that Big Company's plants are each identical to the single plant that each of the five competitors has (5 plants in total for the competitors).  What do you believe is the approximate output (in yds/mo) of a typical Big Company plant?  Carefully explain your logic.

C)  In neighboring Smith county about 200 million yds/mo of concrete are consumed at a price of $40.  It costs $5/yd to ship concrete between the counties.  Both counties had a $10/yd tariff on sale by companies from outside their county.  Smith county (and not Jones) recently removed their tariff.  How would you expect the Jones county concrete sellers to react to the removal of the Smith county tariff?  Would you expect the price in Jones county to be impacted?

